EARAZROREIERT — 2 N—XBISY —F 201753850 (H) 17EEH3H

m%ﬁﬂﬁﬁ%/\ﬁz 285 C2 3R B R
[A&4£] 1% :300,000" ~ 23#%&:75000M”  33%&:38,000M  47&:22,000H .~ 57&:15,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. . KIRAE :33. 00— . - MEEX (SH)
il 729> L1z R i i B V8 e
ALY aK—5— BILALITITY JRE B
EERE 34, 55~ 8| - EEE (5H)
) 7o n—%— H 6 £E 1(314)1 5-5-5-4 | 40.8 2 (4:13 AT
L:yrh—r B:Tr¥a-7 Al =
N — =YES :34. —6-6- . — RAR— (ZH)
3 4| T-LF=y o2 7 2l 1(33/:2)3 6-6-6-3 | 40.8 7 <4+537) gﬁz%
LTRIAYIY IR BiI—LFLay Y — K4
2 4t 8 | E)IlaEL 1:34.4 4-4-4-5 |41.2| — 6 486 | AEASEA (SH)
4|56l EADIEX 54.0 (1/2) (45) | BhEZ
L:d—IbRAaqO— B:T7IIMNLTF /0 hif fk
“ Y. 7 | EFEE 1:34.4 3-3-3-2 |41.4| — 4 488 | AIFFEE] (&)
5812 7Y =®T vk 56.0 () o) | BERR
L:Tv TRy b BT TUXL IS
PR AAEE :34. -12-12-11(40.3 | — FHA (ZH)
67|10 ¥82/FHLEAY H 6 N (12314/29) 12-12-12-11{ 40.3 9 (4+916) el
LT RIAY T v Bie—USTH— S
THIE :35. ~7-6- . — MEELEL (BH)
7 g| AXREHR I i 5 ThE 1 (315> 1 7-7-6-10 | 41.6 10 (4_5:0) il
RiwyyETdyEk BXARIAHL—F EvilLyRT7—L
S5 i o4 | EESRI 1:35.2 10-9-8-6 |41.4| — 3 462 | BREZ (SH)
8 3| 714 54.0 (2 E) (45) | EHEE
R:o07x B:X0/7z7Y— ®l E—
S S g, i 5 | BRER 1:35.4 11-11-11-9 | 41.3 | — 8 426 | AAREEBD (BN)
917l | F¥ IV —=VYT— 540 m 46) [
R:Tv TRy v B:774T X4~ HE77—»4L
j > 8 | BIFFEXR 1:35.7 9-10-10-7 | 41.6 | — 11 436 | ARSEA (BH)
EE 2 JA47—I)leE—0O— - ¥¢55.0 (1 1/2) (+3) | BAEEEA1S
L:2F¥xv> B:O—>7ZX EFE ER
e . AK 3. 89— 5| — Hh— ()
1155 | V> NTN=N=— 6| BEA 1 (356>7 8-8-9-12 | 42.5 12 (4:;7) e
R:T7LEATAv I N BIAYLFRY AL EESAN ¢
. s 5 | WWEEES 1:37.8 1-1-1-8 | 45.9| — 5 418 | BT (&)
12/8|11| 7= X 54.0 (5) o) |EmEE
RL:AFAT—IL K B:aXE/INILLR—=IL EviLyRKT7—L4
® I —F—EBIERL
13=7r= 11,1,12,6,7,4,8,5,2,3,9,10
Aol=5r= 11,1,12,6,7,4,8,5,3,2,9,10
30—7+— 11,1,12,6,7,(4,8),3,5,2,9,10
41—+ — 1,12,4,7,6,3,2,11,9,8,10,5
[ RN
B OB 1 140 714K 1-7 200M e & 1-6 220M &R 1-4-7 1,610M
7 B 1 100 1-4 520 | | f§ = 1-7 330M | | 3=H 1-7-4 3,450M
7 1204 4-7 1,030 B H# 1-7 330
4 320H

ABICOVWTRDTEEERROODE. TR LIV,



